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Center pointat( , )
Passes through( , )and( , )

Domain: Range:

from left to right

function that is centered at (-3,-12)

in the
equation to
solve for a

and passes through (24,-13)
. h—
. -
=

Write the equation for a radical

Use these
given values
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1
i @[’r’@[@&ﬂﬁﬁﬂ@ @ﬂﬂ[@@ I m Describing transformations
) 1
O 1
== | : - -
2 g i lal > 1 vertical stretch +k translation up
jq__.g }L IR@@{E F@J[ﬁ]@ﬁﬂ@[@@ ' |a] < 1 vertical shrink —k translation down
Slla 3 | a < Oreflects over x-axis
g Parent graph: y = V{x : . )‘
S ) | y=ayb(x—h)+k
ElL™ 3 |
u,__Q 5 — ' |b] > 1 horizontal shrink -
p ; =] ! [b| < 1 horizontal stretch (x — h) translation right
% — 1 ! b < 0 reflects over y-axis (x + h) translation left
Q5 b ) :
g- - ! : *We won't look at horizontal dilations until PreCalc
3 N i Describe each graph as compared to the parent graph.
1
ﬁ 4 | A]y:%{/}+4 Bly=-Vx+5 |[Cly=V-x+6 |Dly=7V=x-8
= i *warning! Factor out
= | Shape is a ! b-value first!
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